EARAROBREBRT —5 XN—ZXBISH—F

20235F8H9H (K) T0@m&sEE2H

L C 114 YSFR—g (s | EEm - | 9 o0 B
[xE&] 15 :450,000H  23%&:158,000 @  33#&:90,000 @  43%&:68,000H  5i&:45,000H
BE\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
o~ 4 | REFMAELR 1:38.0 3-3-3-3 |39.8| - 6 | 440 |MOBSF (BEE)
1|81/t —% ] Es o T S
R:O=IRXAUAA B:ESRITUVER Tt BE
“ S [0 i 4 | BAESD 1:38.2 1-1-1-1 | 40.4| - 3 | 43 |EEEE @ER)
2 3| Y—RUR 54.0 (1 1/2) *3) Lﬂk
RiFRF B:TIS=—TJO4R /=YY T7—I
RN SHEKX :38. -2-2- . - JIFEs (BEE)
3 6| ARTVI— 5 | SHE 1(/3&;)2 2-2-2-2 | 40.2 2 21+533) B
RiROSAYF B:FAFIARS VY FATPUVRANIST
j °_—=2 so4 | HIIEE 1:38.3 5-6-4-4 |39.9| — 5 | 451 | MTOBF (BEHE)
48| PTAN=—0O-X 54.0 &) 3 |EFEN
R:O=IRAUAXA B:AAERTFSvva IIHhYT 7=
SR N 4 | MEEZ 1:38.6 7-8-7-6 | 40.1| - 4 | 44 |BEHBEX (BLE)
Eﬂ 4| JYFAA—=PE— A 1172 6 | (@ I PNz
R:RySAYT B:T4F7SVR=)b HET7—L
SN T KB : - HE— (ZEE
61718 | RAINAZILNYT— 6 54.0%§ 1'(339)'3 A R ’ fg %ga%ﬁ ( )
RIIET7XR4A7 8:5Y33V9 %S
s . KIEEZIE : -10-10~ - BWPOE (BEE
7 2 | AV 3TRARZ AR i) 1('33/9‘1,')4 10-10-10-10) 3.0 8 (4&3) /J\%%i( ( )
RibwHIO—U— B:AA(Y3VFUET PN
» L o4 | ETE 1:39.8 4-4-5-5 | 41.4| - 1 501 | JIEgR (BERE)
8|5|5|AAAX—A : 2.0 @ e |IGEER
RiROSAYTF BRAXAYRYF TRRHKS
- LLIEg R : -7-8- - EEEt (B8ER)
9111 |YasT27 8 5 Wiees 1(.13/92.)9 9-7-8-7 | 41.2 10 :zg e
R:IvRIVITA B:FAS—N—hrY #HBEIT7—L
1~ 45 | FPPIEE 1:40.2 6-5-6-8 | 41.7| — 7 | 454 |HPHBAT (REE)
10/7] 9 | FF/7IFOY 56.0 a1/2 () | ARt
RIAR—hT 7)Y B:XIp—ETRU— Ry
< p EHRA : -11-11- - FHEE (BEHE
" 2 TV TUIAT— v 5 | B 1.6181).9 11-11-11-11| 41.2 1 21_723; %@% ( )
R:IUIA(9—2 §&:F—AY3 NE EREg
® 11— —&BIEfI
13—7— 3,6,10,5,11,9,4,8,1,2,7
20—F— 3,6,10,5,9,11,1,4,8,2,7
30—7— 3,6,10,11,5,9,4,1,8,2,7
4J—F— 3,6,10,11,5,4,1,9,8,2,7
[ BN-S
B s 10 1,240 | | 94 R 3-10 1,460/ e B 3-8 940M 3EE 3-6-10 5,270M
BB 10 340 6-10 1,090 5 & 3-10 3,720 3EE 10-3-6 61,250M
3 1608 3-6 4304 B8 10-3 9,210
6 1601

ABIC OV TRUTEREERRODDZE. THRIIZEL.




